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Disquazioni logaritmiche

58.

59.

60.

61.

62.

log, (2° -1) > -2
2

2°-1>0

x>0
1)? = = = 0<x<log,5
2*—1<(§j 2°<5 x<log,5

log; x +log, x < 0
ca:x>0

log, x (log, x +1) <0
F,20:log,x=20 = x=21

F,>0:log,x+120 = log,x=-1 = xz%

N~
IN
>
IN
H

2lInx-1In>x=0
ca: x>0

Inx (2-1Inx)=0
FF20:Inx20 = x=21

F,20:2-Inx=0 = Inx<2 = x<¢€ 1< x<é

2Inx - In*x >

NP

ca:x>0

4+ ./16-4 2+.,3
4In°x-8Ilnx+1<0 = Inx= = \/_

2-./3 2+./3 2-y3 2+43
T\/_slnxsT\/_: e 2 <x<e ?

log x + log, x< 0

c.a.zgx>0 2 Ioggx(logéx+1)50

F 20: log, x=0 :>2 xsl2

F, = 0: Iogzlx+120 = X<2 l<x=<2
2
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63. logix —4logix—291log, x—24<0
3 3 3
ca:x>0  Pongo: log, x =t
3

t°-41° -29t-24<0 = (t+1)(t-8)(t+3)<0 =
t<-30-1<t<8 = log, x<-3 0 -1<log, x<8

3 3

< X< [ > 27

goer > (=3 H X o 1 cx<30x227
6561

x>0

4. (2 =2)(In°x-4)<0
ca:x>0 (2 -2 (Inx-2) (Inx+2) <0

20222 = Jx2x = x=2x* = 0<x<1
F,20:Inx>2 = x>¢€°

F,20:Inx>2-2 = x>¢e”

= e?<x<1 0 x=2¢€?

X<0 0e?<sx<l 0 x=¢€
x>0

65. Iogﬁ(2x+1)—logﬁ(3—x)<2
Iogﬁ(2x+1)<logﬁ(3—x) +2 = Iogﬁ(2x+1)<logﬁ(3—x) + log2

Iogﬁ(2x+1)<logﬁ2(3—x)

1

2x +1>0 X>=5
3-x>0 = {X<3 = —l<x<%

2x+1<2(3-X) 5

X< =

66. 5logix+ 24log,x-520
1

ca:x>0 Pongo:logsx=t:>5t2+24t—5202>ts—5Dt25

1
log,x< -5 [ Ioggxzé = Xx<3° 0 x=23

1
<— 0O x=2%3
X 3 X = 0<xs% 0 x=>%/3
x>0
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67.  In(|x|-2)<1

X|-2>0 Xx<-2 0 x>2
|X]

=
|X|-2<e —e—-2<x<e+2

—e—-2<x<-2 [ 2<x<2+e

68. |092|X|——1S2
2-|x+3|
XI-1 XI-1
2-|x+3| 2-|x+3|
_Ix=1 IX[Z9+Ix+3]
2-|x+3| 2-|x+3|
x| -1 IXx|-1>0 = x<-10 x>1
N i S -5<x<-1[ -1<x<1
2-|x+3| 2-|x+3|>0 = -5<x<-1
x| -9+4|x+3|20 =
x<-3 -3<x<0 x=0
O O
-5x>21 3x=-3 5x=-3
IX[Z9*4x*+3l 5| y<-Zg_1<x<0mx20 -
2-|x+3| 5

xs—2—1 U x=-1
5

2-|x+3>0 = -5<x<-1

x<—5Dx2—2—1
5

—%sx<—1 0O -1<x<1

69. In (m -1)<In2

x| -1>0 Vx| >1 {x<—1Dx>1
= =
JIx|-1<2 JIx| <3 -9<x<9

-9<x<-1T[ 1<x<9



